

સુરત મહાનગરપાલિકા સાઉથ ઈસ્ટ ઝોન (લિંબાયત) વાટીકા ટાઉનશીપ સામે, ડુંભાલ,સુરત. ફોન નં.૨૩૩૧૯૦૩/૯૦૪

> નં. સા.ઈ.ઝોન/આઉટવર્ડ/૯૨૭૨ તારીખ : ૧૪/૦૩/૨૦૨૪

<u>–ઃસંમતિ પત્રકઃ–</u>

પ્રતિ,

વિષય :- સાઉથ ઈસ્ટ ઝોન(લિંબાયત)માં સમાવિષ્ટ ટી.પી. ૪૧ (ડીંડોલી) અને ટી.પી. ૬૨ (ડીંડોલી-ભેસ્તાન-ભેદવાડ) માં આવેલ વિવિધ ટી.પી. રસ્તાઓ પર ફ્રુટપાથ, સી.સી. કર્બ, પેવર બ્લોક, વોટર ટેબલ સેટ-રીસેટ અને જરૂરી મરામત/નિભાવ કરવાનું કામ.

સંદર્ભ :- સ્થાયી સમિતિ ઠરાવ નં. ૧૭૩૮/૨૦૨૩, તા. ૦૨/૧૧/૨૦૨૩ થી મંજુર થયેલ યુનીટ રેટના ભાવે અને શરતે.

મહાશય.

સાઉથ ઈસ્ટ ઝોન(લિંબાયત)માં સમાવિષ્ટ ટી.પી. ૪૧ (ડીડોલી) અને ટી.પી. ૬૨ (ડીડોલી–ભેસ્તાન–ભેદવાડ) માં આવેલ વિવિધ ટી.પી. રસ્તાઓ પર ફ્રુટપાથ, સી.સી. કર્બ, પેવર બ્લોક, વોટર ટેબલ સેટ–રીસેટ અને જરૂરી મરામત/નિભાવ કરવાનાં કામે સ્થાયી સમિતિ ઠરાવ નં. ૧૭૩૮/૨૦૨૩, તા. ૦૨/૧૧/૨૦૨૩ થી મંજુર થયેલ યુનીટ રેટના ભાવે અને શરતે અંદાજીત રકમ રૂા. ૪૯,૮૫,૯૯૦.૨૩ પૈ. થી ૨૭.૮૭% નીચું એટલે કે ટેન્ડર રકમ રૂા. ૩૫,૯૬,૩૯૪.૭૫ પૈ. (GST સહિત) ની મર્યાદામાં ઉક્રત વિષય મુજબની કામગીરી કરાવવાનું કામ મંજુર કરવામાં આવેલ છે.

ઉપરોક્ત કામગીરી અંદાજીત રકમ રૂા. ૪૯,૮૫,૯૯૦.૨૩ પૈ. થી ૨૭.૮૭% નીચું એટલે કે ટેન્ડર રકમ રૂા. ૩૫,૯૬,૩૯૪.૭૫ પૈ. (GST સહિત) ની મર્યાદામાં સ્થાયી સમિતિ ઠરાવ નં. ૧૭૩૮/૨૦૨૩, તા. ૦૨/૧૧/૨૦૨૩ થી મંજુર થયેલ યુનીટ રેટના ભાવે અને શરતે કામ કરવા સંમત હોય, તો આપશ્રીની લેખિત સંમતિ બંધ કવરમાં તા.૩૦/૦૩/૨૦૨૪ સુધીમાં સાઉથ ઈસ્ટ ઝોન(લિંબાયત) ખાતે મોકલી આપવા વિનંતી. ઉપરોક્ત જણાવેલ તારીખ પછી કોઈ બંધ કવરો સ્વીકારવામાં આવશે નહિ.

- ૧. અર્નેસ્ટમની ડીપોઝીટની રકમ કમિશ્નરશ્રી, સુરત મહાનગરપાલિકાના નામનો સુરતની રાષ્ટ્રીયકૃત શીડયુલ બેંકના ડીમાન્ડ ડ્રાફ્ટ/ પે. ઓર્ડરથી સંમતિપત્રક સાથે રૂા., પ૦,૦૦૦ /– ની આપવાની રહેશે.
- ૨. ઈજારદારે ' ઇ−૧ ' વર્ગ રજીસ્ટ્રેશન સર્ટીફીકેટની પ્રમાણીત નકલ સંમતિપત્રક સાથે આપવાની રહેશે.
- 3. ઈજારદારે અંદાજીત રકમ ના ૨૦% કે તેથી વધુ રકમની વર્તમાન (ચાલુ) વર્ષની રાષ્ટ્રીયકૃત બેંકની સોલવંશી સર્ટીફીકેટ સંમતિપત્રક સાથે આપવાની રહેશે.
- ૪. ઈજારદારે છેલ્લા ૦૭(સાત) વર્ષ દરમ્યાન સમાન કાર્યો સફળતા પૂવર્ક પૂર્ણ કર્યાનો સનુભવનાં સર્ટીફીકેટ (ફોર્મ −૩(A)) સંમતિપત્રક સાથે આપવાના રહેશે.
- પ. ઈજારદારે છેલ્લા ૦૩(ત્રણ) વર્ષના આઈ.ટી. રીટર્ન સંમતિપત્રક સાથે આપવાના રહેશે.
- ૬. ઈજારદારે GST રજીસ્ટ્રેશન સર્ટીફીકેટની પ્રમાણીત નકલ સંમતિપત્રક સાથે આપવાની રહેશે.
- ૭. ઈજારદારે પાન કાર્ડ રજુ કરવાનું રહેશે.
- ૮. સ્થાયી સમિતિ ઠરાવ નં.૧૭૩૮/૨૦૨૩, તા.૦૨/૧૧/૨૦૨૩ થી મંજુર થયેલ ટેન્ડરના પ્રાઇઝબીડ અને ટેકનીકલ બીડની શરતોને ઇજારદારશ્રી બંધનકર્તા રહેશે.
- ૯. કોઈપણ તથા બધાજ સંમતિપત્રક રદ કરવાનો અધિકાર સુરત મહાનગરપાલિકાને અબાધિત રહેશે તે અંગે કોઈ પણ કારણો આપવામાં આવશે નહી.
- ૧૦. તમામ પ્રકારના વેરા ઈજારદારે ભોગવાનાં રહેશે.
- ૧૧. તમામ સરકારી/ અર્ધ સરકારી લાગુ પડતા કાયદાનું ઈજારદારે પાલન કરવાનું રહેશે.
- ૧૨. સદર કામગીરી બાબતે અત્રેના રોડ વિભાગના ટેકનીકલ સ્ટાફનો સંપર્ક કરવો.
- ૧૩.સદર કામગીરી ઉકત મંજુર થયેલ ટેન્ડરના Detiled Technical Specification મુજબ કરવાની રહેશે.
- ૧૪. ઈજારદારે છેલ્લા ૦૩(ત્રણ) વર્ષના ટર્ન ઓવરનું સી.એ. સર્ટીફિકેટ સંમતિપત્રક સાથે આપવાનું રહેશે.
- ૧૫.ઈજારદારે એન્ટીબ્લેક લીસ્ટ અંગેની એફીડેવીટ રજૂ કરવાની રહેશે.
- ૧૬. આ કામ પુરુ કરવાની સમય મર્યાદા વર્ક ઓર્ડરની તારીખથી દિન–૧૦ (દસ) પુરા થયેથી ૧૨(બાર) માસ (ચોમાસા સહિત) ની ગણવાની રહેશે.

-SD-

કાર્યપાલક ઈજનેર સાઉથ ઈસ્ટ ઝોન(લિંબાયત) સુરત મહાનગરપાલિકા

SURAT MUNICIPAL CORPORATION (South East Zone (Limbayat)) SCHEDUAL-B

NAME OF WORK:- ANNUAL RATE MAINTENANCE WORKS FOR SET - RESET FOOTPATH WITH , C.C.KERB, PAVER BLOCK ,WATER TABLE AT T.P.-41 (DINDOLI) AND T.P.-62 (DINDOLI-BHESTAN-BHEDWAD) AREA IN SOUTH EAST (LIMBAYAT) ZONE AREA, SURAT.

ITEM NO.	ITEM DESCRIPTION	UNIT	QTY	S.O.R. 2021-22	
				RATE IN RS	AMOUNT IN RS
1	Excavating the road surface upto required depth including removing the excavated materials and depositing on the road side upto 50 mt. lead etc. complete. Including labour, machinery & equipments require to complete this item and as detailed in tender specification & as directed by engineer in charge.	C.M.	675.00	69.47	46892.25
2	Providing and filling yellow soil/mixed soil with necessary dumping filling of the trenches of each layer not exceeding 150mm depth of not including watering, raming, consolidation, labour charge & tests required to be carriedout etc., Complete	C.M.	900.00	217.70	195930.00
3	Dismantling of structures of roadways, including disposing off unserviceable material free of cost which will be the owenrship of contractor or as directed by the Engineer with all leads and lift etc. Including labour, machinery & equipments required to complete this item etc.				
	(A) R.C.C. Pardi	C.M.	15.00	705.23	10578.45
	(B) Removing existing Kotah Stone	S.M.	200.00	31.82	6364.00
	(C) Brick / Stone Masonary	C.M.	30.00	366.93	11007.90
	(D) Plain Concrete	C.M.	90.00	406.17	36555.30
	(E) Bituminious Pavement	C.M.	45.00	176.55	7944.75
	(F) Non Bituminious Pavement	C.M.	450.00	170.74	76833.00
4	Preparation of subgrade with compacting. levelling and consolidation of subgrade with mini roller/plate vibrator machine including watering and filling in depression which occur during the process. including labour, machinery, equipments required to execute this item etc. complete as detailed in tender specification & as directed by engineer in charge.	S.M.	2250.00	4.55	10237.50
5	Providing and laying cement concrete 1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate of 20 mm nominal size) and curing complete excluding cost of form work and reinforcement for reinforced concrete in vertical and horizontal fins upto floor two.including labour,machinery, equipments required to execute this item	C.M.	75.00	2217.42	166306.50

	etc. complete.				
6	Supplying and filling fine sand (Pana/Stone Dust/Crush sand) in 25/75 mm (Avg.) compacted thickness over the base including necessary compaction, watering etc. complete. item includes levelling by using mini rollar/plat vibrator machine and as per details in tender specification & as directed by engineer in charge.	C.M.	393.75	339.70	133756.88
7	Providing 100 mm thick readymade C.C. kerb of strength M20 (Size 300 x 380 mm) purchased from S.M.C.'s approved paver block manufacturer and setting in line, level and in truly vertical position, including filling joints 10mm width in C.M. 1:1 (1 Part of cement 1 part of coarse sand) smooth pointing in C.M. 1:1 (1 Part of cement : 1 Part of stone dust) including watering, test required to be carriedout etc. complete and as directed by Engineer-in-charge). including watering, labour, tests required to be carried out, machinery, equipments required to execute this item etc. complete.				
	For regular edge of footpath	R.M.	2000.00	247.00	494000.00
	For roundling at the edge of footpath (For fanning portion)	R.M.	0.00	323.20	0.00
8	Providing and fixing interlocking type Rubber Moulded cement concrete paver block of approved shape, design and colour having 60 mm thickness (M-35), purchased from SMC's approved paverblock manufacture only and fixing on fine sand bedding. Item includes levelling by using plate vibrator compactor machine. Item also includes all material colour, equipments, tools, plants, curing, watering, cleaning, test required to be carriedout etc. complete.		0.00		
	With Colour	S.M.	3000.00	533.00	1599000.00
	Without Colour	S.M.	0.00	533.00	0.00
9	Providing & setting 35 to 50 mm thick rough kotah stone paving for footpath in line, level and in proper gradient including 25 mm thick bedding in C.M. 1:6 (1 part of cement: 6 part of coarse sand) with sufficient ramming consolidation. Providing joints in C.M. 1:3 (1 part of cement: 3 part of coarse sand) and smooth pointing in C.M. 1:1 (1 part of cement: 1 part of coarse sand) including watering etc. complete and as directed by Engineer in charge.	S.M.	750.00	338.79	254092.50
10	Removing & resetting rough kotah stone paving for footpath in line, level and in proper gradient including 25 mm thick bedding in C.M. 1:6 (1 part of cement: 6 part of coarse sand) with sufficient ramming consolidation. Providing joints in C.M. 1:3 (1 partof cement: 3 part of coarse sand) and smooth pointing in C.M. 1:1 (1 part of	S.M.	2000.00	142.31	284620.00

	cement: 1 part of coarse sand) including watering etc. complete and as directed by Engineer in charge				
11	Providing and setting 50 to 60 mm thick rouge kotah stone water table in line, level and in required gradient including 25 mm thick beddeing in C.M. 1:6 (1 Part of cement : 6 Part of coarse sand) with sufficient ramming consolidation. Providing joints in C.M. 1:3 (1 Part of cement : 3 Part coarse sand) and smooth pointing in C.M. 1:1 (1 Part of Cement, 1 Part of coarse sand) including watering etc. complete and as per details in tender specification & as directed by engineer in charge.				
	Size : 2'0" x 1'0" (600mm × 300mm)	R.M.	20.00	126.31	2526.20
	Size: 1' x 1'(40 to 50 mm thick)	R.M.	1500.00	126.31	189465.00
11 (A)	Providing and fixing in position readymade cement concrete Water Drain Slab (300 x 300 x 80 mm) M-30 Grade with all labour, material, testing charge etc. complete as per details in tender specification & as directed by engineer in charge.	R.M.	1000.00	215.00	215000.00
	Readymade water drain channel (600 x 300 x 100)	R.M.	200.00	454.00	90800.00
12	Supplying and fixing RCC collar (300 mm dia) for tree plantation including all taxes, carting, loading, unloading etc. complete.with all labour, material charge etc. complete as per details in tender specification & as directed by engineer in charge.	Nos.	50.00	120.00	6000.00
13	Providing and applying two coats of synthetic enamel paint including primer to kerb as per technical specifications and as directed by Engineer-in-charge.	S.M.	150.00	76.00	11400.00
14	Removing and resetting existing rough kotah stone water table for footpath in line, level and proper gradient including 25 mm thick bedding in CM 1:6 (1 Part of Cement, 6 Part of coarse sand) with sufficient ramming, consolidation, Providing joints in C.M. 1:3 (1 Cement : 3 Coarse sand) and smooth pointing in C.M. 1:1 (1 Cement : 1 Coarse sand) including watering etc. complete as per details in tender specification & as directed by engineer in charge.	R.M.	1500.00	59.39	89085.00
15	Removing and resetting Existing paver block, including all watering leveling, cleaning, labour & Equipments chagres etc. complete as per details in tender specification & as directed by engineer in charge.	S.M.	2000.00	92.92	185840.00
16	Removing and Resetting Existing Paver Ready made C.C.Kerb of strength of required size & thickness in line, level and truly vertical position, including filling joints in C.M.1:1 (1part of cement 1 part of coarse sand) smooth	R.M.	1000.00	45.26	45260.00

	pointing in C.M.1:1 (1 part of cement:				
	1 part of stone dust) including watering etc. complete as directed by engineer in				
	charge. Excavation for 27 cm wide and 25 cm deep Gishi in Ashpalt Bitumeneous road for erection of concrete wall as a				
17	road devider and removal of all excavated materials / asphalts etc. from the site as per details in tender specification & as directed by engineer in charge at the cost of contractor. Providing and laying cement concrete cast-in-situ/ Precast kerb in M-20 grade	R.M.	300.00	43.37	13011.00
18	as per drawing and as per details in tender specification & as directed by engineer in charge with all leads, lifts, loding & unloding etc. complete. (i) 775mm height cement concrete M-20 grade cast-in-situ/Precast Kerbs &				
	Fixing for Median as per drawing and as per details in tender specification & as directed by engineer in charge.	R.M.	200.00	1160.00	232000.00
	(ii) 0.15 (th.) *0.30(l)* 0.48(Ht.) mt. in size cement concrete M-20 grade pre cast Kerbs & Fixing as per drawing Purchsed from SMC's approved manufactures and as per details in tender specification & as directed by engineer in charge.	R.M.	100.00	464.00	46400.00
19	Providing and fixing in the carriageway Interlocking concrete pavers uni-shape (monolithic single layer precast concrete blocks) of any specified colour / size & shape, with approved pattern etc. of 100 mm thick having average crushing strength of 50 N/mm2 on average thickness of 45 mm uniformly graded river sand cushioning with properly compacted with mechanical compactor with required level, grade and camber etc. complete as directed by Engineer-In-charge. (Excluding Sand bed) (At Junctions)	S.M.	150.00	819.00	122850.00
20	Providing and fixing in the carriageway Interlocking concrete pavers uni-shape (monolithic single layer precast concrete blocks) of any specified colour / size & shape, with approved pattern etc. of 80 mm thick having average crushing strength of 50 N/mm2 on average thickness of 45 mm uniformly graded river sand cushioning with properly compacted with mechanical compactor with required level, grade and camber etc. complete as directed by Engineer-In-charge. (Excluding Sand bed) (At Junctions)	S.M.	150.00	751.00	112650.00
21	Providing & laying cement concrete Pavement using 1:2:4(1cement:2sand:4graded stone agg.20mm nominal size) & Vaccuum Dewatering technique including floating surface with a skim powder floater, curing etc. complete.	C.M.	6.00	4914.00	29484.00

	Total Amount				35,96,394.75
	Below 27.87 %			13,89,595.48	
	Total				49,85,990.23
23	Providingandlayingcementconcretecast- in-situ GuardStone (1:1/2:3) (1cement:1/2coarsesand:3graded stone aggregate of 20mm nominal size)including cost of form work including,curing labour,machinery,equipments required to execute this item etc. complete. Size :- (600 x 225 x 400)	NO.	300.00	362.00	108600.00
22	Providingandlayingcementconcretecast-in-situ GuardStone (1:2:4) (1cement:2coarsesand:4graded stone aggregate of20mmnominalsize) including cost of form work including,curing labour,machinery,equipment srequired to execute this item etc. complete. Size :- (750 X 350 X 400)	NO.	300.00	505.00	151500.00

-SD-Executive Engineer South East Zone (Limbayat) Surat Municipal Corporation